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1) In ancient Greece, women were not allowed

to in the Olympic Games.
1.compete

2.collide

3.comply

4.cope Solution : 1

Compete means 'to take part in a
contest' , hence it will make the
sentence contextually correct.
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2) Colours, they say have the power to calm,
pacify and relax; they can energise, activate

and :

1.invigorate —
2.Involve |M|
3.interest
4.enrage

Solution : 1
Invigorate - to impart strength , hence it
makes the sentence contextually correct.
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3)Today, society is literally poisoning the
earth with acid rain.
1.cosmopolitan
2.developing
3.growing
4.industrialized

Solution : 4
Industrialized means having gone industrialization
,hence it makes the sentence contextually correct.
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4) | am quite satisfied that | have not been
in doing whatever was needful for
building up their character.

1.negligent

2.devoted

3_Caring Solution : 1

. Negligent- careless
4.affectionate We need a 'negative sense' word here

to fit in the context, hence negligent
is our obvious choice
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5) Charlie Chaplin’s rise to fame paralleled the
growth of Hollywood movies in the first
decades of the century.

1.sluggish -
2.explosive |MI
3.progressing Solution : 2

4.delayed Explosive is the most suitable

word among the given options
which fits in the context.
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We are provided with the first and last parts
of a sentence. The remaining sentence is
broken into four parts labelled (P), (Q), (R)
and (S). You are required to arrange these
parts so as to form a complete meaningful
sentence and then choose the correct
combination.
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6. The decomposers p-
(P) and hence help to clean the environment @ i@

(Q) help in decomposing the
(R) dead bodies of plants and animals
(S) and put back various useful elements into soil, air and

water. . Solution: The correct order is QRPS : “The
The Correct order is decomposers help in decomposing the dead

A. QRPS bodies of plants and animals and hence help to
B. PQRS clean the environment and put back various
C. SRQP useful elements into soil, air and water.”

Hence, the correct answer is option A.

D. QSRP



SSC CGL/CHSL TIER 2 (CRASH COURSE)

7. Jawaharlal Nehru _ﬁ

(P) under the Cabinet Mission Scheme M
(Q) was the first to articulate |

(R) long before such an assembly was set up

(S) the idea of a Constituent Assembly
The Correct order is

A. RPQS Solutions: The correct order is QSRP :
“Jawaharlal Nehru was the first to articulate

B. PQRS the idea of a Constituent Assembly long before

C. QSRP such an assembly was set up under the

D. SPQR Cabinet Mission Scheme.”

Hence, the correct answer is option C.
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8. Work is the one thing
(P) and without it

(Q) that is necessary —
(R) to keep the world going |W|
(S) we all should die
The Correct order is

A. PQRS Solution: The correct order is QRPS : “Work is
B. QRPS the one thing that is necessary to keep the
C. SPRQ world going and without it we all should die.”

Hence, the correct answer is option B.

D. QRSP
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9. The claim is not

(P) Of any kind —
(@) but 93100
(R) that it is without morality

(S) that science is actively anti-moral

The Correct order is

A. PQRS Solution: The correct order is SQRP : “The
B. SQRP claim is not that science is actively anti-moral
C. QSRP but that it is without morality Of any kind.

Hence, the correct answer is option D.

D. SQRP
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10. A four-year study e

(P) That babies feel more comfortable |MI
(Q) conducted by the Infant Testing Centre

(R) around other babies than with strange adults.

(S) clearly suggests

The Correct order is

A. QSPR Solution: The correct order is
B. PQRS QSPR:
C. SRQP

D. SPRQ



SSC CGL/CHSL TIER 2 (CRASH COURSE)

SENTENCE IMPROVEMENT
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11. She is not only pretty but very
charming.

A.very also a charming

B.very charming

C. but also very charming

D. No correction

Option C
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12. What happens to all those
travellers was not known?

A.What happened to all
B.What is happens to all
C. What happened all

D. No correction

Option A
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13. He always get punishment for
playing swords with his
classmates.

A.clashing swords

B.drawing swords

C. crossing swords
D. No correction

Option C
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14. | shall not go until | am invited.
A.unless | am

B.till | am

C. oncelam

D. ifnotlam

Option A
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15. They felt humiliated because
they realised that they had been
cheated.

A.have been cheated
B.had been cheating

C. were to be cheated
D. No correction

Option D
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16.Select the one which best expresses the
meaning of the given idiom/proverb.

Hobson’s choice

A) Feeling of insecurity

B) Excellent choice

C) Feeling of strength

D) Accept or leave the offer
Solution: D
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17. Select the one which best expresses
the meaning of the given idiom/proverb.
To wrangle over an ass’s shadow.

A) To act in a foolish way

B) To quarrel over trifles

C) To waste time on petty things

D) To do something funny
Solution: B
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18.Select the one which best
expresses the meaning of the
given idiom.

To fly off the handle

A) To take off

B) To be different

C) To lose one’s temper
D) To dislocate
Solution: C
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19.Select the one which best
expresses the meaning of the given
idiom.

To keep the ball rolling
A) To keep the conversation going
B) To work constantly N

C) To earn more and more

D) To make the best use of
Solution: A
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20. Select the choice which best expresses the
meaning of the idiom.

To keep the wolf away from the door 7 |
A) To keep alive
"

B) To keep off an unwanted and undesirable
person.

C) To keep away from extreme poverty
D) To hold the difficulties and dangers in check.
Solution: C
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